Hassleholms

BK

Torsdagsbridge (HCP) 2021-10-21

Partavling, 10 bord, 20 par. Antal brickor: 26. Medel: 234.0.

Plac Par Poéng % Namn MID Klubb
1 11 294.7 62.98 Bo-Helge Pettersson - Leif Jonsson 64095 65254 Hassleholms BK
2 2 272.6 58.26 Jan-Ole Engkvist - Ake Karvegard 4475 59636 Hassleholms BK
3 6 267.3 57.12 Peder Nilsson - Mikael Edenklint 20955 13725 Kristianstads BK - Hassleholms BK
4 3 264.7 56.56 Eva Berlin - Anneli Jonsson 30604 33300 Hassleholms BK
5 19 258.8 55.30 Kenneth Osterberg - Goran Stiernfeldt 4700 15885 Hassleholms BK
6 13 254.2 5431 Monica Jorgensen - Bengt Bengtsson 25753 33301 Hassleholms Dambridgeklubb - Hassleholms BK
7 9 2520 53.85 Jan Nilsson - Lars-Ake Nilsson 4501 12667 Hassleholms BK
8 8 250.7 53.56 Per-Erik Pettersson - Gert Fors 10690 16982 Hassleholms BK
9 7 236.8 50.61 BertWahlin - Anders Svensson 41515 39152 Hassleholms BK
10 18 2321 49.59 Lars Tegéard - Stig Akesson 61259 45382 Hassleholms BK
11 1 2285 48.83 Marianne Skovsted - Kjell Dahlman 16230 81063 Hassleholms BK
12 4 2269 48.48 Britta Akerblom-Nilsson - Bengt Jénsson 27449 30612 Hassleholms BK
13 17 225.6 48.20 Bo Selander - Christina Gutenwik 10057 6301 Hassleholms BK
14 16 219.8 46.96 Rolf Svensson - Natale Bellan 26039 26026 Hassleholms BK
15 12 2195 46.91 Magnus Widarsson - Lena Widarsson 37131 59633 Hassleholms BK
16 15 213.7 45.66 Anita Bergwall - Heléne Roth 94347 61092 Hassleholms BK - Hassleholms Dambridgeklubb
17 10 202.0 43.16 Rolf Gustafsson - Lars Jarskog 16192 88855 Hassleholms BK
18 5 198.4 42.38 Ulla Evertsson - Rolf Evertsson 27279 27280 Hassleholms BK
19 14 187.3 40.02 Kenneth Jérgensen - Ronny Frost 42891 30618 Hassleholms BK
20 20 174.4 37.26 Anna-Lena Melin Linder - Bengt Linder 10869 13228 Hassleholms BK
1 & K932 Bésta kontrakt 2 4109 Basta kontrakt 3 & KKn6 Bésta kontrakt
Nord v EKn8 44 N =420 Ost v 1096 34 O =-140 Syd v EKD7 3v SD-1-100
Ingen + K6 NS 4983 ov ¢ Kn7
#7532 & ¢ v & NT #EK752 & ¢ v & NT #DKn74 & ¢ v &N
4E654 o- N 105 5 108 487543 4 EKn2 N9 3646 410983 452 N9 4885
v1097 vKD5432 S 9 55 108 vD3 v KKn85 S 93646 v32 v 10654 S 94885
+ D109 ¢ Kn7542 038835 ¢ 642 ¢ EKDKNn75 O 3 106 9 7 + E86 +KD10432 O 4 9 555
D84 &KKn V38835 #Kn108 &- vV 3 106 8 7 #K983 &E V49555
« DKn1087 « KD6 «ED74
v6 vE742 v Kn98
+ E83 + 10 +95
#E1096 #D9643 #10652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 20 5vDO-3 &7 500 180 0.0| 4 12 64 V-2 *K 100 180 00| 3 7 2vN= A 110 18.0 0.0
9 15 44 S= v9 420 140 40|13 19 44 V-1 «K 50 16.0 20| 4 16 INN-2 +K -100 14.0 4.0
16 3 44 S= vT 420 140 40| 8 20 3¢+ O= «K -110 140 40| 5 13 3NN-2 +K -100 14.0 4.0
17 5 44 S= vT 420 140 40| 9 15 3¢ O+1 &3 -130 8.0 10.0|11 12 2NN-2 +K -100 14.0 4.0
4 12 4vDO-2 «Q 300 100 80|14 1 3¢ V+1 &K -130 8.0 10.0|15 10 3¢ O= +9 -110 7.0 11.0
2 6 4v0-1 I 50 80 10.0(16 3 1l¢ O+3 v4 -130 8.0 10.0(17 6 2¢ O+1 4A -110 7.0 11.0
10 11 44 S-1 v7 -50 3.0 15.0|17 5 3¢ O+1 %3 -130 8.0 10.0{18 8 3¢ O= v8 -110 7.0 11.0
13 19 44 S-1 vT -50 3.0 15018 7 4e¢ V= *A -130 8.0 10.0{20 9 3¢ O= v38 -110 7.0 11.0
14 1 44 S-1 vT -50 30 150| 2 6 3aV= «K -140 2.0 16.0{14 2 2NN-3 +Q -150 2.0 16.0
18 7 44 S-1 vT -50 3.0 15.0|10 11 1¢ O+4 #4 -150 0.0 18.0| 1 19 3NN-4 +Q -200 0.0 18.0
4 498 Bésta kontrakt 5 & K106 Bésta kontrakt 6 » K108652 Bésta kontrakt
Vast vE5 3NT N =600 Nord v 942 44 O D -1100 Ost vED7 6¢ O =-1370
Alla + KD109865 NS 498753 ov + K4
&EK & ¢ v & NT #53 & ¢ v & NT K4 & ¢ v &N
4 K76 4 ED102 N9 107 7 9 4 D7 4EKN85432 N 9 5 103 6 o E 4« DKn43 NO1l662
vDKn106 v742 S 9 107 7 9 vKn3 vE7 S 84922 v 10964 v8 S0166 2
¢ E742 ¢ Kn3 033554 ¢ KD1062 ¢ Kn4 048396 ¢ Kn10752 ¢ ED3 O 12127 7 8
«Kn4 #9762 V335514 210742  #KD V48396 #1065 #EDKn83 V 12127 7 8
4 Kn543 49 497
v K983 v KD10865 v KKn532
.- ¢E + 986
#D10853 #EKn986 %972
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 12 3NN+3 *6 690 180 0.0| 7 17 54 Q-2 vK 100 180 0.0| 7 17 1a N+2 v8 140 17.0 1.0
14 2 2¢ N+3 »7 150 150 30| 4 8 44 0-1 vK 50 150 3.0|16 5 24 N+1 v8 140 17.0 1.0
15 10 2NN +1 »2 150 150 3.0|19 2 44 0-1 vQ 50 150 3.0|19 2 24 0-1 +8 100 140 4.0
17 6 3¢ N+1 +J 130 11.0 7.0|12 13 34 O+1 49 -170 11.0 70| 4 8 2NO+1 v2 -150 9.0 9.0
18 8 2¢ N+2 v4 130 110 7.0(16 5 34 O+1 +A 2170 110 7.0 6 1 340+2 49 -150 9.0 9.0
3 7 2¢ N+1 v7 110 8.0 10.0| 6 1 5vDS-1 &K -200 7.0 11.0|12 13 44 N-3 ¢ A -150 9.0 9.0
119 3NS-1 vlJ -100 3.0 15.0({15 11 5vDS-1 +K -200 7.0 11.0|14 3 44 N-3 *A -150 9.0 9.0
4 16 5¢ S-1 vQ -100 3.0 150|14 3 5vS-3 4Q -300 40 140|115 11 44 O+3 &7 -190 4.0 14.0
5 13 3NS-1 vQ -100 3.0 15.0{20 10 44 O= ¢ A -420 20 16.0{18 9 3NO+2 a7 -660 2.0 16.0
20 9 5¢ N-1 v2 -100 3.0 15.0|18 9 44 O+1 ¢A -450 0.0 18.0{20 10 3NDO +2 49 -1150 0.0 18.0

Hassleholms BK, Torsdagsbridge (HCP) 2021-10-21, sida 1 av 3




7 4109654 Basta kontrakt 8 4 Kn7 Basta kontrakt 9 41073 Basta kontrakt
Syd v 652 44 S D -2 -500 Vast v 62 2NTND-1-100 |Nord v 652 44 O =-620
Alla ¢ KDKn2 Ingen + KKn1074 ov + K9875
*3 & ¢ v & NT #EKN105 & ¢ v & NT 82 & ¢ v & NT
«D « EKn8 N4 4584 4 ED8432 49 N7 7557 «4KD84  4Kn652 N27 336
vE103 v K87 S 34584 v KKn9 v E854 S77557 v KKn7 v E943 S27 336
4987653 ¢ E10 0997509 +D3 49852 O6 58 86 +6 ¢+ D4 O 106 9 107
K92 #DKn875 V98759 D2 #K843 V65886 #Kn7543 #EK10 V 106 9 107
4 K732 & K1065 ~E9
v DKn94 vD1073 vD108
¢+ 4 ¢+ E6 ¢ EKn1032
*E1064 *976 #D96
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 20 2N O -2 vQ 200 170 1.0(15 12 2NV-3 v6 150 180 0.0(18 11 4v O-2 ¢ A 200 170 1.0
19 3 440-2 43 200 170 10| 7 2 24 V-2 ¢7 100 150 3.0(19 4 3v0O-2 ¢ A 200 17.0 1.0
13 1 3NO-1 v9 100 140 40|10 18 34 V-2 LN 100 150 3.0| 6 10 34 S-2 oK -100 14.0 4.0
16 6 3¢ V= &3 -110 11.0 7.0|14 4 24 V-1 A 50 120 6.0(12 20 3# V= aT -110 12.0 6.0
17 8 3¢ O= vK -110 11.0 7.0|19 3 3¢ N-1 46 -50 10.0 80| 1 2 24 V+2 ¢+5 -170 7.0 11.0
7 2 INO+2 &2 -150 8.0 10.0|11 20 24 V= v2 -110 6.0 120| 8 3 34 V+1 *7 -170 7.0 11.0
15 12 44 N-2 ¢ A -200 6.0 12.0|13 1 24 V= A -110 6.0 12.0|16 7 24 V+2 ¢+ K -170 7.0 11.0
10 18 3¢ N-5 48 -500 40 14017 8 24 V= v6 -110 6.0 12.0|17 9 34 O+1 +A -170 7.0 11.0
14 4 3NO= v4 -600 20 16.0| 5 9 24 V+1 v6 -140 20 16.0| 5 14 34 O+2 +A -200 2.0 16.0
5 9 3NO+1 v4 -630 0.0 18.0|16 6 3¢DN-3 49 -500 0.0 18.0|15 13 44 V= +9 -620 0.0 18.0
10 4105 Bésta kontrakt 11 « ED6 Bésta kontrakt 12 4 Knl107 Bésta kontrakt
Ost v K10 7v O =-2210 Syd v 8754 5¢ S =400 Vast vD1054 3NT V =-400
Alla ¢ 654 Ingen ¢+ KD43 NS + Kn104
#1098542 & ¢ v & NT *84 & ¢ v & NT #963 & ¢ v & NT
D62  4E93 N36031 410532 4987 N 5 115 8 9 4 E82 4654 N46574
v 96432 v EDKn87 S36031 vEKn632 ¥D109 S 5 115 8 9 v9 v EK763 S46574
¢ EKn7 ¢K O 107 131012 .- ¢ 865 072754 4532 + D87 096 6 69
#DKn  &EK73 V 106 131012 +D632 *E975 V72754 #EKDKN102 #54 V956629
» KKn874 & KKn4 « KD93
v5 vK v Kn82
+ D109832 ¢ EKn10972 + EK96
*6 #KKn10 »87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 14 4v O+l 44 -650 17.0 1.0(20 13 3NS+2 v2 460 180 00| 1 15 3aV= L) -110 140 4.0
8 3 4v 0O+l 6 -650 17.0 10| 9 4 3NS+1 v4 430 150 30| 2 3 2&V+l oT -110 14.0 4.0
12 20 4v O+2 &7 -680 13.0 5.0(17 10 4NS= *2 430 150 3.0 7 11 2V +1 aJ -110 14.0 4.0
16 7 5v O+1 &6 -680 13.0 50| 1 15 5¢ S= vA 400 9.0 90| 9 4 24V+1 L) -110 140 4.0
6 10 4v V+3 &T -710 70 11.0| 2 3 5¢ S= vA 400 90 9.0|17 10 3# V= Ly -110 140 4.0
15 13 4v O+3 &6 -710 70 11.0| 7 11 5¢ S= vA 400 90 9.0| 5 19 2&V+2 aJ -130 6.0 12.0
18 11 5v O+2 6 -710 7.0 11.0|16 8 5¢ S= *2 400 9.0 9.0|16 8 2#V+2 *J -130 6.0 12.0
19 4 4v O+3 &6 -710 70 11.0|14 6 4¢ S+1 vA 150 40 14.0(18 12 24V +2 *4 -130 6.0 12.0
17 9 6v 0= aT -1430 20 16.0| 5 19 4¢ S= vA 130 20 16.0|14 6 3NV= a7 -400 2.0 16.0
1 2 6v0+1 &6 -1460 0.0 18.0|18 12 34 S-1 *Q -50 0.0 18.0|20 13 3NO+1 ¢+ K -430 0.0 18.0
13 4 K5 Basta kontrakt 14 4 D753 Basta kontrakt 15 4 EKKn8 Basta kontrakt
Nord v 9852 34 O =-140 Ost v K62 6¢ O =-920 Syd vK3 34 S =140
Alla + Kn63 Ingen + KKn NS + Kn87
#K963 & ¢ v & NT #KKn108 & ¢ v & NT #Kn932 & ¢ v & NT
4 Kn987632 4 EDI10 N8 1911 & EK962 « Kn8 N6 1422 a74 4653 N8 9598
v 64 vK3 S81911 v8 vEDKn104 S 6 1 4 2 2 v EKNn876 v D952 S895938
¢+ D7 ¢ EK1082 0394094 ¢ ED10984 ¢ 652 O 7 129 108 + EK32 ¢ 95 04 48365
*72 #D85 V394094 *7 #E63 vV 7 129 108 #85 D764 V44835
a4 104 4 D1092
v EDKn107 v 9753 v 104
4954 +73 +D1064
#EKn104 #D9542 #EK10
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 5 4e V-2 v9 200 180 00| 9 16 3NO-3 »2 150 180 00| 4 5 44 N-= v2 620 170 1.0
9 16 3v S+1 ¢+ Q 170 16,0 20|14 7 3NO-2 &4 100 150 3.0(19 7 44 N= v2 620 17.0 1.0
3 4 3s4V-1 v9 100 140 40|15 2 3NO-2 LY 100 150 30| 8 14 34 S+1 +K 170 13.0 5.0
8 12 24 O+2 ¢5 -170 11.0 7.0| 8 12 3NO- &5 50 120 6.0(16 10 34 S+1 ¢+ K 170 13.0 5.0
20 1 34 V+1 *3 -170 11.0 7.0|18 13 3NO= &4 -400 100 80|11 6 34 N= v5 140 8.0 10.0
17 11 2N O +3 vA -210 8.0 10.0|10 5 44 V= *J -420 7.0 11.0|12 17 24 S+1 ¢+K 140 8.0 10.0
18 13 44 O= A -620 6.0 12.0|17 11 5¢ V+1 a2 -420 70 11.0|15 3 24 S+1 ¢ A 140 8.0 10.0
19 6 44 V+1 v2 -650 40 140 3 4 3NO+1 &5 -430 40 140|20 2 24 N= v2 110 4.0 14.0
14 7 464 O+2 &4 -680 10 170(19 6 44 O+1 45 -450 10 170( 9 13 44 S- vA -100 2.0 16.0
15 2 44 0+2 ©vA -680 10 17.0(20 1 44 V+1 v2 -450 10 170(18 1 2vV= s A -110 0.0 18.0
16 &D Bésta kontrakt 17 » K96 Bésta kontrakt 18 & KKn842 Bésta kontrakt
Vast v 9852 3¢ V =-110 Nord vE83 34 O =-140 Ost v42 34 S =140
ov + ED87 Ingen + 107 NS 462
#DKn98 & ¢ v & NT »K8632 & ¢ v & NT #9765 & ¢ v & NT
532 «E974 N4 4656 4E10875 442 N5 3544 « D103 97 N9 5598
vEKn43 vD7 S44555 v KKn9 v 752 S53544 vKDKn53 v 1097 S95598
¢ 105 ¢ KKn432 089787 +94 ¢EKKn853 O 7 108 9 8 ¢ EK5 ¢ D9873 038845
#K1062 #E5 V89787 #DKn5  #E7 vV 7 108 9 8 #108 #DKn2 V38845
» KKn1086  DKn3 » E65
v K106 vD1064 v E86
+ 96 + D62 + Knl104
*743 #1094 #EK43
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 13 INN= +4 90 180 00| 9 14 3NV-1 »2 50 180 0.0| 3 20 24 S+2 ¢+ K 170 18.0 0.0
18 1 2v N-1 A -50 150 3.0| 2 18 2¢ O+1 v¥6 -110 150 30| 5 6 24 S+1 ¢ A 140 140 4.0
19 7 24 S-1 a5 -50 150 3.0(17 13 3¢ O= &T -110 150 3.0[10 1 24 S+1 vK 140 140 4.0
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4 5 INV= *Q 90 120 6.0{19 8 2¢ O+2 &T -130 120 6.0|17 13 24 N+1 vT 140 140 4.0
15 3 INN-2 *2 -100 100 80| 5 6 2NV +1 3 -150 8.0 100| 4 15 2NS= vJ 120 10.0 8.0
20 2 26 O+1 v6 -110 8.0 10.0|10 1 2NV +1 3 -150 8.0 10.0| 9 14 24 N= vT 110 8.0 10.0
8 14 2NV = ) -120 4.0 14.0|16 11 2NO+1 v6 -150 8.0 100|19 8 34 S-1 ¢+ K -100 6.0 12.0
11 6 INV+1 +8 -120 4.0 140| 3 20 3NV= *2 400 3.0 150| 2 18 29y V42 42 -170 4.0 14.0
16 10 INO+1 46 -120 4.0 140| 4 15 3NV= *2 -400 3.0 15012 7 34DS-1 <A -200 1.0 17.0
12 17 24 N-3 vQ -150 0.0 18012 7 3NV+2 *2 -460 0.0 18.0|16 11 2NS-2 vK -200 1.0 170
19 » EK9875432 Basta kontrakt 20 « D974 Basta kontrakt 21 a5 Basta kontrakt
Syd v E532 74 S =1510 Vast v E8743 ANT V =-630 Nord v 842 44 O =-420
ov *- Alla + D6 NS ¢ KKn63
*- & ¢ v & NT »82 & ¢ v & NT #K8764 & ¢ v & NT
46 a- N 7 4 111312 4EKI0 4632 N42543 aD2 « E£10643 N4 4334
v7 v KKn96 S 7 4 111312 vK1052 vD9 S$425 43 vED65 vKn97 S44334
¢1097543 ¢KDKng62 O 4 9 1 0 1 ¢ E873  #KKnl05 09 118 9 10 ¢ED754 +9 09 9 10109
#96542 *K73 V69101 #DKn  #K763 vV 9 118 8 10 »D2 #EKn105 V.9 9 9 109
4 DKn10 4 Kn85 & KKn987
vD1084 v Kn6 v K103
¢E ¢ 942 41082
#EDKn108 #E10954 #93
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 7 74 N= ¢K 1510 170 10| 5 15 2NV +1 a4 -150 180 00| 1 9 4v V-2 45 100 18.0 0.0
12 16 74 N= ¢K 1510 170 10|14 10 INO+3 #4 -180 16.0 20|20 5 2¢vV+l 46 -140 16.0 2.0
19 9 64 N+1 ¢K 1010 140 4.0|12 16 2v N-3 &K -300 14.0 4.0| 2 17 2NV +2 *6 -180 13.0 5.0
13 8 64 N= +Q 980 9.0 90| 6 7 3NV= v3 -600 10.0 8.0|18 4 INV+3 &7 -180 13.0 5.0
14 10 64 N= ¢+ K 980 90 9.0(17 1 3NV= v2 -600 10.0 80|10 19 3NV= *6 -400 9.0 9.0
17 1 64 N= ¢+ K 980 90 9.0(19 9 3NV= v3 -600 10.0 8.0|14 11 3NO= a7 -400 9.0 9.0
18 3 64 N= +K 980 90 9.0|11 2 3NV+1 v3 630 5.0 13.0| 7 8 3NO+1 a7 -430 3.0 15.0
5 15 54 N+1  ¢K 480 30 15.0({13 8 3NV+1 a4 -630 5.0 13.0|12 3 3NV~+1 &3 -430 3.0 15.0
11 2 44 N+2 ¢Q 480 30 15.0({18 3 3NV+2 v7 -660 10 17.0(13 16 3NO+1 49 -430 3.0 15.0
20 4 74 N-1 ¢+ K -50 00 18.0|20 4 3NV +2 v4 -660 10 170(15 6 3NV +1 *6 -430 3.0 15.0
22 ~E3 Basta kontrakt 23 4105 Basta kontrakt 24 4432 Basta kontrakt
Ost vKD8 5v S =450 Syd vKD10974 5NT O =-660 Vast vE92 2NTV =-120
ov + D986 Alla ¢ Kn1072 Ingen ¢ E82
#Kn654 & ¢ v & NT »4 % ¢ v & NT #ED93 & ¢ v & NT
41052 «D876 N 109 111010 «EDKNn987 4K N52512 «EK108 & DKn5 N45655
vKn52 v1096 S 109 119 9 v8 v EKn632 S52412 vDKn105 v7 S45655
¢ K43 ¢ EKnl07 034233 ¢ K9863 ¢E5 08 118 1111 ¢ KKn10  +943 0976 88
#10987 D2 V34233 *6 #E8532 vV 8 118 1110 «52 #K108764 V 9 7 6 8 8
4 KKn94 46432 4976
vE743 v5 v K8643
¢ 52 ¢+ D4 + D765
#EK3 #KDKn1097 *Kn
Par  Kontr Ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
2 17 3NN+1 46 430 180 0.0(|15 7 4a V-2 vK 200 180 0.0| 2 10 44V-2 vA 100 18.0 0.0
1 9 3NS= &T 400 90 9.0| 2 10 44 V= *4 -620 16.0 20|13 4 3NV-1 3 50 150 3.0
7 8 3NS= *9 400 90 90| 5 18 3NO+1  #K -630 120 6.0|14 12 3NO-1 v4 50 150 3.0
10 19 3NS= *9 400 90 9.0 8 9 3NO+1 #Q -630 12.0 6.0|19 11 INS-1 vT -50 120 6.0
13 16 3NS= &T 400 90 9.0(19 11 3NO+1 #Q -630 120 6.0| 5 18 1vS-2 & A -1000 9.0 9.0
14 11 3NS= *8 400 90 9.0| 3 17 44 V+1 +K 650 7.0 11.0|16 1 2vS-2 *2 -100 9.0 9.0
15 6 3NN= a7 400 90 9.0[13 4 4aV+1 2 650 7.0 110| 8 9 3«0= v4 -110 6.0 120
18 4 3NS= &T 400 90 9.0(20 6 3NO+2 &K -660 4.0 14.0|15 7 INV+1 a4 -120 4.0 14.0
20 5 3NS= 8 400 90 9.0|16 1 44 V+2 vK -680 2.0 16.0|/20 6 3v S-3 5 -150 2.0 16.0
12 3 INS+3  &T 180 00 18.0(14 12 6a V= *4 -1430 0.0 180| 3 17 3vS-4 oK -200 0.0 18.0
25 473 Bésta kontrakt 26 + 1062 Bésta kontrakt
Nord v 1052 4ANT O =-630 Ost v 654 44 O D -2500
oV +D1083 Alla ¢ EKD107
#K652 & ¢ v & NT SE7 & ¢ v & NT
4KKn942 46 N55343 49875 4 EDKn3 N 5 10105 9
v4 vEKKn9873 S 5 5 3 4 3 vE10 vD9 S 5 10105 7
¢ E952 ¢ KKn O 8 8 109 10 ¢52 ¢ 8643 072282
#1087 #DKn3 vV 8 8 109 10 #K9854 #D32 V72282
« ED1085 4 K4
vD6 v KKn8732
¢ 764 ¢ Kn9
#E94 #Kn106
Par Kontr Ut Res Poang Par Kontr ut Res Poang
17 4 4v0O-2 *A 200 180 00| 1 5 4vS= *4 620 140 4.0
16 2 4v0-1 oA 100 16,0 20| 3 11 4vS= 8 620 140 4.0
13 14 2v O+2 A -170 13.0 50|13 14 4v S= ¢5 620 140 4.0
20 7 3v O+l 4A -170 13.0 50|17 4 4vS= 49 620 140 4.0
1 5 3v0+2 &4 200 7.0 11.0|20 7 4vS= 49 620 140 4.0
6 18 2v O+3 ¢7 200 7.0 110| 6 18 34 V-4 ¢A 400 8.0 10.0
9 10 2v O+3 4A 200 7.0 11.0| 9 10 3v S+2 ¢+5 200 6.0 12.0
19 12 3vy O+2 &A 200 7.0 11.0|19 12 2v S+1 49 140 4.0 14.0
3 11 4vO= o7 -620 10 170(16 2 3¢ N= *2 110 20 16.0
15 8 4v 0= o7 -620 10 170(15 8 34 0= ¢9 -140 0.0 18.0
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